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QUESTION 1

Which of the following commands will change the quota for a specific user?
A. edquota

B. repguota

C. quota -e

D. quota

Correct Answer: A

QUESTION 2

Which of the following Linux filesystems preallocates a fixed number of inodes at the filesystem\\'s make/ creation time
and does NOT generate them as needed? (Choose TWO correct answers.)

A. ext3
B. JFS
C. ext2
D. XFS
E. procfs

Correct Answer: AC

QUESTION 3

Which of the following are valid stream redirection operators within Bash? (Choose THREE correct answers.)
A.

B. >>

E. %>

Correct Answer: ABC

QUESTION 4
After running the command umount /mnt, the following error message is displayed:

umount: /mnt: device is busy.
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What is a common reason for this message?

A. The kernel has not finished flushing disk writes to the mounted device.

B. A user has a file open in the /mnt directory.

C. Another file system still contains a symlink to a file inside /mnt.

D. The files in /mnt have been scanned and added to the locate database.
E. The kernel thinks that a process is about to open a file in /mnt for reading.

Correct Answer: B

QUESTION 5
What is the difference between the i and a commands of the vi editor?

A. i (interactive) requires the user to explicitly switch between vi modes whereas a (automatic) switches modes
automatically.

B. i (insert) inserts text before the current cursor position whereas a (append) inserts text after the cursor.

C. i (independent rows) starts every new line at the first character whereas a (aligned rows) keeps the indentation of the
previous line.

D. i (interrupt) temporarily suspends editing of a file to the background whereas a (abort) terminates editing.

Correct Answer: B
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